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- Total Mark (60 Marks)
I. Vocabulary (8 Marks) /\
A. From a, b, ¢ and d choose the best completion. (4x1=4 M) w
L. A thief fried 30 cus vae ivs 53 s0is sen ,but he was arrested before he could.
a. install 6.1 b. flee c. associate d. shatter
2. John speaksa/an .................... of English that I find hard to understand.
a. custom b. illness Cc. generation d. dialect
3. The book gives a/an .................... description of life in the city in the 1950s.
a. fizzy b. accurate c. wholegrain d. itchy
4. Careless driving.................... leads to injury or death, so one should drive carefully.
a. loudly b. awkwardly c. mostly d. ornately

B. Fill in the spaces with words from the list: (4x1= 4 M)

(bloated / rich in / improve / personality / numerous)
5. Getting a good job depends largely on one’s skills, experience and personality .
6. I felt really bloated after having a large meal at the party last night.
7. The book is so interesting that I’ve read it numerous times.

8.1 am planning to take a summer course to improve my French.
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II. Grammar (5 Marks)

A. From a, b, ¢ and d choose the correct answer: (4x %= 2 M)

5
8. There 18n't ; wossesnmmmams s milk in the fridge, would you please buy some? v

a. any b. a C. an d. some
10, "Tonrists ; cusensmsn i sim come to Kuwait usually visit Kuwait Towers.
a. whose b. which c. who d. where

11. The project hasn’t been finished

.........................

a. for b. yet c. just d. since

12. It is hot in here. The air conditioner is not cold

.......................

a. much b. many c. enough d. little

B. Do as required: (3X1=3 M)

13. We have to go to school on Friday. (Make negative)

We don’t have to go to school on Friday.

14. “I want to learn how to swim,” said the little boy. (Reported speech)

The little boy said (that) he wanted to learn how to swim.

15. My parents had packed the suitcases two days before we travelled. (Correct the verb)



R Akl — gl chuall Y 0 VA /Y0 NY (Y1 Al yal) B Y g glatal

III. L.anguage Functions (6 Marks)

Write what yvou would sav in the following situations: (3x2= 6 M)

6
16. Your little sister eats a lot of fast food. u

Giving Advice / Warning / Expressing Opinion

17. Your friend wants to know your plans after you leave high school.
Talking about future plans / Expressing intention

18. The waiter asks you whether you’ll have tea or coffee after lunch.
Expressing preference / Expressing likes and dislikes

IV. Set Book Questions (6 Marks)

Answer only Three of the following questions: (3x2=6 M)

19. What does it take to be a good storyteller? w

A good storyteller should have expressive face, vary his voice and should have a good
memory.

20. Why is it important to do exercises regularly?

Doing exercises regularly helps us to be healthy and fit.

21. Why is taking holidays important?

Because they are a chance to relax and renew one’s energy.
22. Where would you like to live, in a city or village? Why?

*] like to live in a city because public services are usually better, places of
entertainment are usually more, it is more exciting to live there. Etec.

*1 like to live in a village because it is cleaner, more peaceful and quieter than living in

a city.

Any reasonable answer is accepted.
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V. Writing (15 Marks) 15

()

Clean water is the most precious resource on earth. Man, animals and plants can’t live
without it.

Plan and write a report of two paragraphs (12 sentences) about the importance of clean
water and how to save it.

The following guidewords may help vou:

Paragraph 1: Sources and uses of water

rain/ wells / drinking / agriculture

Paragraph 2: How to save water

school children / pay for usage / posters / laws

Exposition of ideas, paragraphing & | Prewriting Spelling and Handwriting Tofal iatk
a
number of sentences techniques Grammar spacing & Pun.
|
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V1. Reading Comprehension (20 Marks) O

Read the following passage, then answer the questions below:

Mexico City is one of the most polluted cities in the world. It has been said that
Mexico City's air has gone from being one of the world's cleanest to one of the world's most
polluted. Unfortunately, the worst problem gripping the city is the massive cloud of smog

that hangs over it almost every day. Mexico City has the highest level of ground level ozone
in the world, according to the World health Organization.

There are mountains all around the city and there is not much wind, so the pollution is
not blown away. The people of Mexico City have tried to cut the pollution out. They have
moved the factories outside the city. They have planted more trees to produce oxygen and
keep the air clean. There are new traffic rules so that there are fewer cars on the city roads.

They put signs of different colours on all the cars. So there are some colours of cars for
every day.

London also used to have the same problem like Mexico. Now drivers have to pay
money to drive into the centre of London during working hours. This has succeeded in

reducing the number of drivers who come into London every day. Many people now use
buses and trains instead of their own cars.

A. From a, b, ¢ and d choose the correct answer: (4 X 2% =10 M)

23. The best title for this passage is

..........................................

a. Working Hours b. Coloured Signs

c. Mountains and Cities d. Pollution in Big Cities

24. The underlined word "massive " in paragraph (1) means

................................

a. little b. very large c. very small d. tiny
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25. The opposite of the underlined word different in paragraph (2) is

...................

a. fewer b. same

c. clean d. polluted

...........................

26. The underlined word "their" in paragraph (3) refers to

a. people in London b. people in Mexico City

c. working hours d. buses and trains

B. Answer the following questions: (4 X 2% =10M)

27. What is the worst problem facing Mexico City?
The massive cloud of smog that hangs over it almost every day.
28. How did the people of Mexico City cut the pollution out?

They have moved factories outside the city. They have planted more trees to produce

oxygen and keep the air clean. There made new traffic rules to reduce the number of
cars on the city roads.

29. What should drivers do to drive into the centre of London during working hours?

Now drivers have to pay money to drive into the center of London during working
hours.

30. Why isn’t the pollution over Mexico City blown away?

Because there are mountains all around the city and there is not much wind.

Any reasonable answer related to the text is accepted.
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